PREMIUM QUALITY

‘PRESIDENTIAL BILLIARDS:-

t*t

Presidential Shuffleboard

Installation Instructions



Presidential Shuffleboard Hardware and Components

1 3/8" Bolt
@ﬂwuwuuw ¢ pes
)
2 3/8" Nut
AN 8 PCS
3 3/8" Washer
8 PCS
4 "’ Leg leveler
4 PCS
5 Scoring system
95y 2 PCS

6 DRSS F4" Screw 4 PCS

*

2 PCS

1/4" Washer
2 PCS

T4 Bolt
2 PCS

)
10 23%@; 4 PCS

11

5/16" Bolt 32 PCS

12 5/16" Washer 32 PCS




Step 1:

Step 2:







